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Week of September 10/07

When data is in interval grouped form, the usual assumption that is made is that within each
interval the data points for that interval are uniformly distributed on the interval. This means that
for interval  , a data point within that interval would have pdf   .Ð+ß ,Ó 0ÐBÑ œ "
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Suppose that the following pdf is assumed for data in the interval   :   .Ð+ß ,Ó 0ÐBÑ œ #ÐB+Ñ
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Find the estimate of the first moment based on the grouped data set.
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The solution can be found below.



Week of September 10/07 - Solution

An underlying relationship upon which the estimate is based is
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When the uniform distribution is assumed for each interval, this results in
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With the new pdf, we get   .IÒ\ l+  \ Ÿ ,Ó œ B † .B'
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A somewhat simplified approach is to find
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